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INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions.

1.

This paper consists of 10 questions.

2. Answer ALL the questions in the SPECIAL ANSWER BOOK provided.

& Clearly show ALL calculations, diagrams, graphs ete. which you have used in determining
your answers.

4. Answers only will NOT necessarily be awarded full marks.

5. You may use an approved scientific calculator (non-programmable and non-graphical),
unless stated otherwise.

6. If necessary, round off answers to TWO decimal places, unless stated otherwise.

- Diagrams are NOT necessarily drawn to seale:

1
8. An information sheet with { at the end of the question paper.
9. Write neatly and legibly.
Copyright reserved

Please turn over



MatherPyouwmloaded from Stanm gg"ce Ph ys ics.com NW/September 2025

QUESTION T

A survey was-done under 100 members of a gymnasium about the cost of their annual
membership contract,

Results showed an average annual payment of R3 240,

FREQUENCY

8

12

P

< <0001 30
4000 < x <5000 Q

5000<x <6000

F£

1.1  How many members payedi 22000 for their annual contract?
1.2 Proof by calculation that P = 20
1.3 Hence, complete the cumulativi 1cy table in the ANSWER BOOK.

1.4 Use the cumulative frequency table to draw an ogive to illustrate the information

above.

1.5 Use the ogive to determine how many members spent more than R4 200
annually on their contracts.

(1)
&)
(2)

3)

(1)
[12]
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QUESTION2-

Eight couples entered a dance competition. Two judges gave mar
pcrfomﬁ}lm:-_;%c marks (out of 20) are shown in the table below.

NW/September 2025

ks for their

COUPLE

JUDGE 1

JUDGE 2

15

2.1 Determine the equation of the leastsq |
the two judges.

2.2 A ninth couple had a late entry in the competition and received a mark of 15 by
JUDGE 1. Calculate to the nearest integer, the mark they possibly would have
received from JUDGE 2.

2.3 Are the judges consistent whe
Motivate your answer with a

Copyright reserved

6 7 8
12|10 | 14
14, 8 | 15

f the marks given by

3)

(2)

3)
18]
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QUESTIGW 35

In the d}@ﬁmb‘élow PQRS is a quadrilateral with vertices P(3;6), Q(9; 1), R(8 : 1)

QO;:1

—> X
3.1 Calculate the gradient of SR. (2)
3.2 Determine the equation of PQ in the form y =mx+c. 3)
3.3 Calculate the value of 7. (2)

3.4 Calculate the length of PQ if #=8. (2)
3.5 Proof that PS is perpendicular to SR. 3)
3.6 If PQ = PS, calculate the area of PQRS. (6)
37 Calculate the value of @, the angle of inclination of SR. )
3.8 Calculate the equation of AB. Show ALL working, (6)
126]
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QUESTION 4
YT _ 2 1)" =9
In the diagram below the circle with centre A has the equation (x+1) +(y+1) =9.

FGisa t:ho;do‘f circle A. AD bisects chord FG.
FGC isa tangent to the circle with centre B(3 ; 2) at point C( 4; I) g

Ay

< » X
4.1 Write down the coordinates of A. (1)
4.2 Determine the equation of tangent FC, in the form y = mx +¢. 4)
W -
4.3  Given: AD = —— units. Calculate the length of FG. -
2 = @)
4.4 Determine the length of AB. ¢ ‘ ' _':, 2)
4.5  Another circle with centre B, touches the circle with centre A at K.
Determine the equation of the new circle, 3)
[14]
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QUESTION 5.

1 I the diagram below, |

L1 sin?(180°+6)
512 tan(-6)

5.2 Calculate, without using a ¢ of the following:

52.1 cos15°

5.2.2 c0s(90°+x).cos(180° —x)
cos’ (180°+ x).tan(180° - x)

_ sin20+2cos@-2cos’ @ .
5.3 Given: - =sin 26
1+siné&

5.3.1 Proofthe identity.

532  For which values of @ in the interval [~360°360°] is the ldennty l[[
QUESTION 5.3.1 undefined?

54 (Calculate the maximum value of
2+4+cosx

(C))

(2)

(6)

(3)

()

()

)
[26]
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QUESTION 6
In the diﬁ_gt_aiir below, the graphs of f (x)=cos(x+60°) and g [Ripandgre i
for the interval x & [-90°:180°].

A

» X
—90°  —60° 90° 120° 150° 30°

—
ghmoreph ,com

6.1  Calculate the values of x, in the interval x€[=90° ; 180°] for which

f(x) = g(x). (7)
6.2  Write down the period of g(x). (1)
6.3  Use your answer in question 6.1 to determine the value(s) of x where

g(x)2 f(x). @
6.4  Describe the transformation from A to p if h(x)=sinx and

p(x)=sin(x—30°). 3)

[13]
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QUESTION7

7.1 In the diagram below, AABCis 90° < C <1807,

B(a; 0)

Proof: ¢c*=a’ + b>=2ab

4)
7.2 In the diagram below, A, B and C are three points in the same horizontal
plane.
e P is the image of a balloon vertically above C
e The angle of elevation to is 0"
e ABC=90°-a
e BC= lAB
2
e AB=dunits
A |
7.2.1 Provethat h= &1 e, ‘25'4Sin @ where A is the height of the balloon above
the ground. (4)
722 Determine the value of hif d =300m, @ =327 and 0 = 63°, (3)
[y

S Please turn over
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Provide reasons for your statements in QUESTION 8, 9 and 10.
QUESTION 8

In the diagram below PQBR is a cyclic quadrilateral.

BP.is a diameter of the circle. PR is produced to S, and PBto T
PBT intersects QR at A and the circle at B

RT bisects QRS, TS | SP
PQ =PR

81 If Q?_= 55°, calculate with reasons the size of:

8.1.1. R, @)

812 B, )

8.13  BRp )

8.1.4 A: &)

8.2 Give areason why AQ = AR )

8.3 Prove that AT =TS, 4)
[14]
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QUESTIONS-

In the dnagramﬁmlhe centre of the circle, with CEG a tangent to the circle.

9.1  Prove the theorem that states that CED = F . (5)

9.2 In the diagram below, ABCD is a cyclic quad,g']@t eral. EF || BD.
ACG and DCE are straight ling 9

E G F
Prove that: .
9.2.1 E=A, == n
922 EF is a tangent to the circle EAC (1)
9.2.3  AABC ||| AEDF @)
924 BE.AH _ EQEQ
e s

‘ ] Please turn over
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QUESTION 10

In tl1e:.d_i"a:g'_ﬁ;ﬁi.1)clow, AB is a diameter of the circle. CB is a tangent to the circle at B.
AC intersect the circle at D.

e DC=-AD
Kb _2,_ L i

10.1  Prove that @ = Jf
DC (4)

3)
17

[AA-TOTAL: 150

10.2  Calculate the perimeter of AABCif AD = 10 mm.
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INFORMATION SHEET
e b + \}_62- = dac
A= P(1+nt) A= P(1 - ni) A=P(1-i)  A=P(1+i)
T = _-] = i
L =a+(n=1)d 5, =3[2a+ (n-1)d]
T =ar'.'."' " a(r” - l) " a
8= —— srel S‘n::;—ls’.r<l
x| (1+8) -1 4= 1oty
(L o AR
n i
IRy s f(x+h]—f(x) —b + \|b® - 4ac
-l 2l
d=y(x,-x) +(n-n)
3 =%+ e m=2"A m = tan @
Xy = %

(Jnr-a)z+(y—-b)2=r1
B el
sind sinB sinC
a’ =b> +c* =2bccos A

(4

In AABC':

aei BABC = -;—ab.sin c

sin(a + f) = sina.cos ff + cosa.sin 3

(

cos(a + f3) = cosa.cos f§ - sina.sin f§

cos’ a - sin’ @
i |
cos2a =41 — 2sin" a
2¢cos’a — 1

2

n

n(4)
n(s)

y=a+bx

P(4) =

Copyright reserved

sin(a - f#) = sina.cos f — cosa.sin B

cos(a - 1) = cosa.cos f + sinc.sin 3

sin2a = 2sin@.cos

N 2
Z("f i ?)
e e3P b S

n

P(4or B)=P(A4)+ P(B) - P(4and B)

DB F)
Y- %)
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FOLLOW THESE INSTRUCTIONS CAREFULLY

VOLG HIERDIE INSTRUKSIES NOUKEURIG

. Clearly write your name in the space
provided.

. No pages may be torn OR ADDED from
this answer book.

. Read the instructions given in the
examination paper carefully.

. Learners may not retain any answer book
or remove it from the examination room.

. Answers must be written in black/blue ink
as distinctly as possible.

. Draw a neat line through any work/rough
work that must not be marked.

6.

. Skryf jou naam in die ruimte soos verskaf.

Geen bladsy mag uit hierdie antwoordeboek
geskeur word OF BYGEVOEG WORD nie.

Lees die instruksies wat in die eksamen
vraestel gegee word, sorgvuldig deur.

Geen antwoordeboek mag deur leerders
behou of uit die eksamenlokaal verwyder

word nie.

Skryf die antwoorde so duidelik moontlik
met swart/blou ink.

Trek ‘n netjiese lyn deur enige
werk/rofwerk wat nie nagesien moet word
nie.

Copyright reserv ed/Kopiereg voorbehou
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QUESTION/VRAAG 1
AMOUNT/ FREQUENCY/
BEDRAG (R) FREKWENSIE
0< x <1000 8
1000 < x <2000 12
2000 < x <3000 P
3000 < x <4000 30
4000 < x <5000 Q
5000 < x < 6 000 12
Solution/Oplossing Marks/
Punte
I | M
1.2 R
(5)
CUMULATIVE FREQUENCY/
= AMOUNT/ | FREQUENCY/ KUMULATIEWE
BEDRAG (R) | FREKWENSIE FREKWENSIE
0<x <1000 8
1000 < x <2000 12
2000 < x <3000 20
B 0
3000 < x <4000 3
4000 < x <5000 18
5000< x <6000 12 2)

3 obli
Copyright reserved/Kopiereg voor behou Please turn over/Blaai om asseblief
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14
Ogive/Ogief

100

o0
o

|
o

(=)
o

Ln
o

o
o
3

L7
o

Cumulative frequency/Kumulatiewe frekwensie

(3]
o
5

o

0 1000 2000 3000 4000 5000 6000
Amount/Bedrag (R) 3)

1.5

(1)
(12]
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QUESTION/VRAAG 2
COUPLE/PAAR 1 5 7|8
JUDGE/BEOORDEELLAAR 1 | 18 10 | 14
JUDGE/BEOORDEELLAAR?2 | 15 | 6 8 | I5
i1 ” ] S.C0
Solution/Oplossing - A Marks/
Punte
2.1
3)
22
2
23
3)
(8]
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QUESTION/VRAAG 3

Marks/
Punte

@)

3.2

(€)

3.3

()

3.4

@

Copyright reserved/Kopiereg voorbehou Please tum over/Blaai om asseblief
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35
3

3.6
(6)

3.7
(2)

3.8
(6)
[26]
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QUESTION/VRAAG 4
Equation of circle with centre A is (x +l)2 +(y+ 1)I =9 .FG is a chord of circle A. AD
bisects chord FG. FGC is a tangent to the circle with centre B(3;2) at point C(4;1).

Sirkel met middelpunt A se vergelyking gegee deur (x+1)’ +(y+1)' =9. FG is ‘n koord van

sirkel A. AD halveer koord FG. FGC is ‘n raaklyn aan die sirkel met middelpunt B(3; 2) by
punt C(41).

Solution/Oplossing Marks/
Punte
4.1
()
4.2
“

Copyright reserved/Kopiereg voorbehou Please turn over/Blaai om asseblief
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43
---"_—-—-—-__

4.4 @

45 . (2)
(3)
[14]
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QUESTION/VRAAG 5
Solution/Oplossing Marks/
Punte ‘
5.1.1 | sin’(180°+6) |
4)
5.1.2 | tan(-6)
@ |
5.2.1 | cos15° {
(6)

Copyright reserved/Kopiereg voorbehou Please turn over/Blaai om asseblief
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3221 c0s(90°+x).cos(180°— x)
cos’(180° + x).tan(180° - x)
(©)
53.1| sin26+2cosB-2¢c0s’@ |
: =sin 260
1+sin @
(5)

Copyright reserved/Kopiereg voorbehou
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e —
e R
-

532

2)

54

@
[26]
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QUESTION 6/VRAAG 6
S (x)=cos(x+60°)

g(x)=sin2x

1807

Solution/Oplossing Marks/
Punte

6.1

(7

Gl ed/Kopiereg voorbehou Please turn over/Blaai om asseblief
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6.2
(1)
6.3
(2)
6.4
(3)
[13]
Marks/
Punte

B(a;0)

(4)
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7.2.1

“)

1722

€))

(1]
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Provide reasons for your statements in QUESTION 8, 9 and 10.
QUESTION 8/VRAAG 8

BP is a diameter of the circle. PR is produced to S, and PB to T/BP is ‘n middellyn van
die sirkel. PR is verleng na S en PB is verleng na T

PBT intersects QR at A and the circle at B/PBT sny OR by A en die sirkel by B
RT bisects QRS, TS L SP/RT halveer QRS, TS L SP

PQ=PR

Q

Copyright reserved/Kopiereg voorbehou

Solution/ Oplossing_b Marks/
Punte
8.1.1
2
8.1.2
2)
8.1.3
)
8.1.4
)
8.2
(1)
8.3
“4)

Please turn over/Blaai om asseblief
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[14]
QUESTION 9/VRAAG 9
Solution/Oplossing Marks/
Punte
9.1

®)

Copyright reserved/Kopiereg voorbehou
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9.2.1
9.2.1
(€)
9.2.2
| 1
9.2.3 =
)
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9.24

©
(19]
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'QUESTION/VRAAG 10

Marks/

Solution/Oplossing Punte

10.1

“)

10.2

(€)
(71

TOTAL/TOTAAL: 150
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Additional space/ Addisionele ruimte ke
Punte
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Mathematics Paper 2 (08 SEPTEMBER 2025)

Marking Guideline discussion Notes

Question 1 [Statistics]

e 1.5 Possibility of an interval {73 - 75}

Question 2 [Statistics]

o 22 C.A from Q2.1
e Tothe NEAREST INTEGER was emphasized. As stated on the question paper.

Question 3 [Analvtical Geometry]

e 3.2 & 3.3 C.A Only if the gradient is positive

e 36 Teachers wanted to know whether the ”Shoelace Method” can also be
accepted to which the answer was YES given that everything is correct(Accuracy
mark)

e 36 DONOTPENALIZE for SI units

e 3.7 C.A from 3.1

e 3.8  Check alternative methods

Question 4 [Analytical Geometry]

o 42 Gradient of BC must be negative(-) in order to C.A (Max 2/ 4 marks)

e 4.4 & 4.5 Answer Only is aceepted
e 45 C.A from 4.4 (AB)

Question S [Trigonometry]

e 5.1.1 Ifreduction formula is Wrong, C.A (Max 2/4)

e 5.2.1 Learners can also use cos 30° = 2cos® 15° — 1 or cos (45°—30°)

cos30°+1
2

cos15° =

e 5.3.2 Answer Only is accepted
e 5.4  Learner can also use calculator (TABLE f(x)=....) to find the maximum

Question 6 [Triconometry]

e 6.4  30°Right — Accepted (Full Marks)

Question 7 [Triconometry]

e 7.2.2 Mark allocation must be check
e Teachers are advised to revise the proofs of Area, Sine & Cosine Rules

Question 8 |[Euclidean Geometry]
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e Always start marking from candidate’s diagram. Marks can be allocated on the
diagram.
e 82 Perpendicular bisector is acceptable as reason

Question 9 [Euclidean Geometry]

e 9.1 No Construction/wrong construction constitute a break down BD
e 924 Specify the specific triangles A

Question 10 [Euclidean Geometry]

e 10.1 Trigonometric ratios can also be used and 90° MUST be stated or MUST be
Shown on the candidate’s diagram.
e 10.2 IfBC and AB are incorrect — C.A can be applied.

THE.END
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NSC/NSS — Marking Guidelines/Nasienriglyne

NOTE:

[ ]

L]

If a candidate answers a question TWICE, only mark the FIRST attempt.

If a candidate has crossed out an attempt of a question and not redone the question, mark the
crossed out version.

Consistent accuracy applies in ALL aspects of the Marking Guidelines. Stop marking at the
second calculation error.

Assuming answers/values in order to solve a problem is NOT acceptable.

NOTA:

As ‘n kandidaat ‘n viaag TWEE KEER beantwoord, sien slegs die EERSTE poging na.
As ‘n kandidaat ‘n antwoord van ‘n vraag doodtrek en nie oordoen nie, merk die doodgetrekte
poging.

Volgehoue akkuraatheid word in. ALLE .aspekte van die Nasienriglyne toegepas.

Hou op nasien by die twee

{'

Aanvaar van antwoorde/waarde. op te los, word NIE toegelaat nie.

Copyright reserved/Kopiereg voorbehou Please turn over/Blaai om asseblief’
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QUESTION/VRAAG 1
AMOUNT/ FREQUENCY/
BEDRAG (R) FREKWENSIE
0<x.<1000 8
1000 < x <2000 12
© 2000< x <3000 P
3000 < x < 4000 30
4000 < x < 5000 Q
5000 < x < 6000 12
1.1 20 v answer/antwoord
()
12| 8+12+P+30+0+12=100
P+0=38..... @ vV P+Q=38
— _ 3940 - 3(500)+12(1500) + P(2500)+ 30(3500) + 0(4500) +12(5500) | ¥'eq of X =3240
100
v'262=5P+90
~.1310=25P+450
5.262=5P+90
v'subst/vervang ()
5(38—0)+9P =262
190—50+90 = 262
40=72 v’ subst/vervang
Q=18 Q=18
P =20 )
1.3
CUMULATIVE
AMOUNT/ FREQUENCY/| FREQUENCY/
BEDRAG (R) | FREKWENSIE | KUMULATIEWE
FREKWENSIE
v 8,20,40
0 < x <1000 8 8
1000 < x <2000 12 20
2000 < x <3000 20 40
v’ 70, 88, 100
3000 < x <4000 30 70
4000 < x <5000 18 88 2)
5000 < x <6000 12 100

Copyright reserved/Kopiereg voorbehou

Please turn over/Blaai om asseblief
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1.4
Ogive/Ogief
100 . v" min/max values
90 - = == v all coordinates
A (penalise without
2 80 grouning/penaliseer
‘% 70 _ sonder beginpunt)
= -
E 60 £ v Shape/Vorm
= Va
<9 :
9 :
240
g
& 30
2 &
'E: 20 —
10
= — i
@) 0 i
0 1000 2000 3000 4000 5000 6000 3)
Amount/Bedrag (R)
1.5 | 100 — 74 = 26 members/lede : v answer/antwoord
e Possibility of an interval {73 - 75} CA from graph (1)
[12]
QUESTION/VRAAG 2
COUPLE/PAAR 1 2 3 4 5 6 7 8
JUDGE/BEOORDELAAR 1 18 | 4 6 8 5 112110 | 14
JUDGE/BEOORDELAAR 2 151 6 3 5 5 | 14 K87 15
2.1 a=-0.03 Answer only: full marks, but if ¢ and b e
b=0,93 are swopped only 1/3 marks/ L b
$=-0.03+0,93x Slegs antwoord: vol punte maar as a v’ equation/
en b omgeruil is, slegs 1/3 punte. vergelyking &)
2.2 y =-0.03+0,93(15) v'substitute 15 into eq. /
=13,92 OR/OF 13,85 Answer only: full marks vervang 15 in vgl.
~14 CA from 2.1 Slegs antwoord: vol punte LarEwerlantiveerd
(2)
2.3 | Yes, they are consistent. r = 0.9 — positive strong correlation / v'yeslja
Ja, hulle is konsekwent. r = 0.9 — positief sterk korrelasie vr=0,9
v'positive strong/
positief sterk
3)
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| 8] |

QUESTION/VRAAG 3
AY i—3
QO ;1
&
/' 68.43¢
3 C —p- X
3.1 1-0 v'subst./vervang
Mg = 8_5
I v answer/antwoord
3 (2)
3.2 | Eqution/Vergelyking: PQ
1 v 1
Mpg = Mgy 35 Mpg = Mgy =2
P(3:6):
| CA from 3.1 only if gradient is + vsubst. coordinates of/
6= 3 (3) t+c vervang koordinate van P
S, &=} v'equation of PQ/
1 vergelyking van PQ
LY = gx 43 (3)
3.3 . 1 v'subst. coordinates of/
0©O:t)iny= - 5 vervang koordinate van P
1 CA from 3.2 only if gradient is + Y'value of/
f= 5(9)+ 5 waarde van 'y
=8 @)
34 _ Jra_aV Lte_aV v'subst. coordinates in
PoO= \/(3 %) ) correct formula/ vervang
PO =+/36+4 koordinate in korrekte
B Jormule
PO =40/2:10/6,32 v answer/antwoord
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(2)
3.5 y— =
0o
=53 Mpg X Mg
Mps X My v :—3x1
2 1 3
- _3 x 3 _ _1
=
PS 1 SR v
conclusion/gevolgtrekking
(3)
36 | sR=\J(8-50+(1-00  PS=4/(5-3) +(0-6) v SR
v PS
SR =+/9+1 PS=+4+36
SR=~10/3,16 PS = 4072410/ 6,32
area of trapezium/ oppv va O+RS).PS varea of trapezium/
oppv van trapezium
— (VA0 +10) x yad v @
i - v 10
ACC) only is 6/6 v answer/antwoord -
.1 only if gradient is +
viana = mg,
nly: full marks v answer/antwoord -
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3.8 Qf’S:QO“ [co-int Z's | ko—binne Z° PO || SR] v QPS=90°
P =40° [straight line / reguitlyn] v P =40°
C = 68,43° [ext L of A/ buite £ v A Y PCS=06843°

| v =

tan 68,43°=2,53 =53
OR/OF

. ¥ PSC=TL57°
PSC=7157° .

x . v'  CPS=40°
e v PCS = 68,43°
~.PCS = 68,43°
P(3:6):

B v'subst. coordinates of/
&= (2’53 (3) e vervang koordinate van P

c=-159
sy =2,53x-1,59 v equalsionf‘
vergelyking
(6)
[26]
QUESTION/VRAAG 4
<
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4.1 | A=) v’ answer/antwoord
(1)
4.2 1 ADC =90° (line from centre bisect cord / mdpt [1 ; mdpt
koord) v 1
FGC is a tangent to circle B/ ‘n raaklyn aan sirkel B KRG =%
~» BCG=90° (tan L chord / rklyn L rad) v
2 _ 1 F(
T3
= =]
~om,,= —1 | CAonlyif BC gradient is - )
AP v'equation of FC/
L mge=1 vergelyking van FC
1=1(4)+c (4)
C(41): c=-3
LpEx=3
43 | ADF=90°
v'radii
FD’=3" - @ 2 (pyvth)
- 2 = v'subst. in pyth formula/
10 vervang in pyth formule
FD?=9-—
4 "
FD= ol Y265 55
2 2
FD=DG orp=Y26 )5 55
2 2
~FG=2x 26
2
~FG=+26/5,10 v FG=+/26/5,10
4)
4.4 2 2 v'subst. coordinates in
= oy R +(—=]—
af \/( l 3) ( 1=2) correct formula/
AB =+16+9 vervang kodrdinate in
AB =5 Answer only — full marks korrekte formule
vanswer/antwoord
(2)
45 |BK=AB-AK v BK=2
BK=5-3 ¥'subst. coordinates in
BK =2 correct formula/
vervang koordinate in
(x B 3)1 +(y B 2)2 = Answer only — full marks korrekte formule
V/ }‘2 = 4
3)
[14]
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QUESTION/VRAAG 5
5.1. 1duats v r=+a41
v sin’0
v'subst./vervang
v answer/antwoord
4
5.1.2 | tan(-0) 4
o v -tan®
__[-_5]
4
=£ v answer/antwoord
4 )
5.2.1 | cosl5®
=cos(60°—45°
( ) m v’ expansion
=¢0560°.cos45°+sin60°. 1 1
D i
1L 2 "2
2 \/E 2 \/5 D MARKS v \/5 v 1
_1+\3 o+ 7z 42
T2 4 DECIMAL ANSWERS — NO MARKS v answer/antwoord
(6)
5.2
cos(90°+x].cos(180°—x)
cos’(180°+x).tan(180°—x)
B (—sinx)(—cosx) v-=Sinx
(co's2 x)(—tanx) v —COSX
_ tanx v cos’x
" tanx s/ - tanx
v .';:1
—1 :
(3)
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5.3.1 | sin20+2cos@—-2cos’ 6 .
- =sin 20
l+siné
LH&=25in6?cos€+2f:osb"~2cos36‘ v 2sin@cos O
1+siné& .
; B 2 2cosf (commen
_ 2sin 6'0036'+20059(1 cos 9) factorigem fakior)
l1+siné@
2s.in6’0056"+2<:0us£5'(sin2 6’) v'sin® @
B 1+sin@
- 2sinfcos O(1+sin0) v/ 2sin @ cos @ (commen
1+sinf@ factor/gem faktor
=2sinfcosd
—sin20 v 2sin@cos O
= RHS
)
532 | 1+sin@=0 v 1+sinf@=0
Ssin@=-1
v'-90°, 270°
— _9(Q° =270° ’
8=-90° or =270 (both/beide)
(2)
54 4
2+cosx For max value, cos x should be a min/
4
= D) +(_ 1) Vir maks waarde, moet cos x ‘n min wees v 4]
4 v’ answer/antwoord
el Answer only — full marks
= (2)
126]
QUESTION/VRAAG 6
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v cos (x +60°) = cos [90° = 2x]

v x+60°=90°-2x+£.360°
v x=10°+£.120°

v
x+60° = 360°—(90°-2x) + £.360°

—x=210°+£.360 v x=-210°+k.360°

x=-210°+£.360° v kell (provided k.360° is
stated/slegs as k.360°gegee word)

But/maar x € [-90° ; 180°]

cox= 100; 1300; 150° v all three answersfal drie
antwoorde

OR/OF 2 e -

sin[ 90°+ (x+60°) |=sin2 sin[ 90°+ (x+60°) |=sin 2x

P =g<6* = Zx+ k. I60°
v —3x=-30°+k.360°

1:90°—x—60° = 2x + k.3
_3x = —30°4K
X = 10°+£.120°

&

or/of
2:90°+ x+60° = 2x + £.360° kel v 90°+x+60°=2x + £.360°
—x = —150° + £.360° s —x=—150°+ k.360°

x =150° — £.360°
vy kell

g [y .
But/maar x € [-90° ; 180°] all three answers/al drie

- x=10° 130° 150° aniielr e
- ’ ’ (7)
6.2 | 180° v answer/antwoord
(H
6.3 | 10°<x<130° U 150°< x <180° v values/waardes
of

v" notation/notasie
[] 0°;l30°] U [150°;180) @)

641 p(x)=sin(x-30°)

v . .
The graph of 4 is shifted/moved 30° to the right./ v gltl)loﬂedfmovedfgesku;f
Die grafiek het 30° na regs geskuif. B
right/regs
3)
[13]
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QUESTION/VRAAG 7
7.1 A(bcos 4;bsin A) v’ coordinates of/coordinate van A
2 2 2
¢ |FlAB° = (xA .- xs) ¥ (J’A '}’3) v correct subst into
ST ( bEeE a)2 § ( B 0)2 distance/korrekte invervanging in
. afstands formulae
> =b*cos’ C—2abcosC+a’ +b*sin> C
= (0052 — C)Jraz BTV T v' simplification/vereenvoudig
02 =b2(1)+az—2abcosc v Sin2x+0052x:1
¢* =a’ +b* —2abcosc (4)
7.2.1 - , (d 2 g v" correct subst into cosine
AC =d"+ [EJ —~2.d 5] -003(90° - ) rule/korrekte vervanging in kosinus
) Sformule
AC’=d? +d——a?2 sin &
4 v BC d v i
5 3 . =— sina
AC? = 5d° 4d”sina | 2
4 4 T_‘- e
d’(5-4sina -& ‘
A= ( 2 ) - v factorise/faktoriseer
_d~\5-4sina
AC=—"—_— —
2
tanf = i
AC
S h=AC.tand
L podNS—dsina g (4)
2
7.2.2 h
tan6’=E v’ ftrig ratio
o G AC v correct subst into tan
- ’ ratio/korrekte vervanging in tan
e 300.4/5—4sin32° tan 63° verhouding
. . — 2 .
. h=499.63m v’ answer/antwoord
3)
[11]
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GEOMETRY/MEETKUNDE

Please read carefully through the following table before marking QUESTION 8-10 /
Lees asseblief sorgvuldig deur die volgende tabel alvorens VRAE 8—10 nagesien word.

The order in which the candidate answers a geometry question must follow
logically/ Die volgorde waarin ‘n kandidaat ‘n meetkundevraag beantwoord moet
logies volg.

Example/Voorbeeld

Given/Gegee AB || CD.and/en ERD = 115°
N S

The candidate first needs to caleulate x BEFORE he/she can calculate y/Die
kandidaat moet eerste vir x bereken VOORDAT hy/sy vir y kan bereken.

A mark for a correct statement
(A statement mark is independent of a reason)

‘n Punt vir ‘n korrekte bewering
(‘n Punt vir ‘n bewering is onafhanklik van die rede)

A mark for the correct reason
(A reason mark may only be awarded if the statement is correct)

‘n Punt vir ‘n korrekte rede
(‘n Punt word slegs vir die rede toegeken as die bewering korrek is)

S/R

Award a mark if the statement AND reason are both correct
(Both MUST be correct to get one mark)

Ken ‘n punt toe as die bewering EN rede beide korrek is
(Beide MOET korrek wees om een punt te kry)
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QUESTION/VRAAG 8

8.1.1 }%4 =55 [As opp. = sid s v (13)
8.1.2 1;’3 =55° [és in the same nt/Le in dieselfde sirkel segmfznf] s (1;)
8.13 | BRP=90° [ £ in semiciic S Y (I;)
8.1.4 | R =55°[proved/bewysin 8.1.1]
BRP=90° [proved/bewysin 8.1.3]
~ R, =35° V'S
f?z = an =55 [As in the same segment/ Ze in dieselfde sirkel Segment] V'S
% . V'S
4,=90 3)
8.2 [line from centre L to chord/lyn vanuit midpt 1 op koord | 'S O
8.4 In ATAR and/en ATSR is:
TR =TR [common / gemeenskaplik | ol
R +R,=R [given / gegee] V'S
4,=90°,
4, =8=90° line from centre L to cord bicects the cord / o
lyn van uit midpt L op koord halveer koord
. ATAR = ATSR [RHS] /R
24T =18 “4)
[14]
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QUESTION/VRAAG 9

9.1

NO construction =
BD (0/5 MARKS)
G

- E

Construction/konstruksie: Line EH through midpoint to circumference to ¢

F/Middellyn EH en verbind met F constr/konstr
E +E,=90° [rad L tan/ rklyn] VS YR

F+F,=90° [ in semicircle./Z in haifirkel ]
E+F =E+E,

v S/R

But/maar Ez = ;':} [ésin the same segment/ZLe in dieselfde sirkelsegment] v S/R

LB~
CED=F, (5)
9.2.1 E[ :f)2 [alt Zs/verw. Ze; BD||EF] ¥ SR
A (with //)
D, =4 [és in the same segment/ Ze in dieselfde sirkel Segment]
PO vS vR
e ‘El = Al (3)
9.2.2 | . EF is a tangent/EF is 'n raaklyn P
[converse tan chord / omgekeerde raaklyn koord ste!fing] 5 )
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9.2.3 | In AABC and/en AEDF is:
1}12" : . [proved/bewys in 9.2.1] vs
B,+B, =D, [ext Z of cyclic quad/buite £ v kvh] v Sv R
C = F [3”’ Zsum of A/3% £ som £ v A] SR
~.AABC ||| AEDF [ £, £, /]
OR/OF
In AABC and ADEF :
i V'S
A =E, [proven/bewys in 9.2.1 YSvYR
3’2 + 33 = 133 [ext £'s of cyclic quad / buite £ v vierhoek] £
.AABC ||| AEDF [ £, 2, /] (4)
924 | AB BC [ t of ||| / uit |||]
— out o ui
ED DF Y8 ¥R
/ lines not shown/ v’ S (making
AB= BC.ED ABih
DF S // ontbreek subject/maak
AB die
But/maar E—ﬁ onderwerp)
HG -
[line|| to one side of a A/ lyn!ander sy v Al VS VR
[prop theorem BD||EF / BD || EF]
AH.BE
AB= HG v" S (making
AB the
subject/maak
. AH.BE BC.ED AB die
" HG  DF onderwerp)
(6)
[19]
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QUESTION/VRAAG 10

B

A

i

NW/September 2025

10.1 | ADB=90°

ABC=90°

[Z in semicircle./Z in hacﬁirkel]
[rad L tan/ 7

(o)
=(x)’ +BD’ ..........8
AB? +BC? =5x* +2BD* -
9x* =5x* +2BD’

OR/OF
right angled Awith BD L AC/

BD*=AD.CD
loodlyn vanuit reghoekige hoekpunt

BD? = 2x.x
~BD=+/2x
BD 2x _J5

DCx

|

¥ both 90°
S/R

v’ both eq

v 4x*=2BD?

v BD=4+2x

v'S VR

v BD=+2x

4

Copyright reserved/Kopiereg voorbehou

Please turn over/Blaai om asseblief’




matSowsrthoaded rfrom Stanmorephysics.com NW/September 2025
NSC/NSS — Marking Guidelines/Nasienriglyne
10.2 | ‘AB’=10.15
AB-::S&/E v AB=5\6
BT 15
BC=5\3 v BC=5\3
AB+BC+ AC
= SJE K 5«/5 g v’ answer/antwoord
=35,91 (3)
[7]
TOTAL/TOTAAL: 150
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